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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
@S fEeqRe Ao Teg i -

(a) In a capitalist economy, the level of
employment depends on

93 e SN Feas Tar B7 67 @
(i) level of aggregate demand
A SR TR 8o e

(i) level of aggregate supply
ST Q@9 TG/ 89S

22A/40 ( Turn Over )



(b)

()

22A/40

(2)

(iii) level of effective demand
ey BIfTE MR 87T©
(iv) None of the above

SO OIS T
( Choose the correct option )

( wm Reach MR e )

Aggregate demand can be expressed as
TR B eere i A<

() D=D;+D,

(i) D; >D,

(i) D; <D,

(iv) D=D, -D,

where (™) D = Demand (wifzw)
D, =Consumer demand ((ST®T wif3wt) and

(5¥) D, =Investment demand

(Rfecner sifdwr)

( Choose the correct option )

( % Rewch itz ferear )

When money wage rate is unchanged,
the slope of aggregate supply function is
e a1 TR TR SeAREET, cofenn e
T FoE SR 29

(i) linear

@R

( Continued )

(@)
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(3)

(iij) non-linear
-(afRe

(iii) curved
&

(iv) Any shape
R ST

( Choose the correct option )

( Wz Reacn afR Tferear )

According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

Rferod e e we TgfRe “AfRedTa 27w
& oo 27

(i) inverse

ReRIe
(i7) linear
e
(iii) non-linear
-
(iv) both inverse and non-linear
e e w-(3RF TRbR
( Choose the correct option )
(o= Rersicor AR Sferean )
( Turn Over )
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(4)

(e) Phillips curve determines

fReferer w32 fAef 33

(i) employment rate

fAaeR 29
(i) unemployment rate
e =9
(iii) inflation rate
ey 29
(iv) All of the above
oY SIBIRCI2D]
( Choose the correct option )
(= Rewch R Tferear )
(/ What is modified Phillips curve?
e Rfere® a1 % 2

(99 What is assignment problem according
to Mundell?

e o wiged IR e [ 2

(h) What is Dornbusch’s overshooting |

model?
G5 SRR S {2
(i) Define international financial market.

e Ry Iw—T e |

() What is open economy?

& w4 2

( Continued )

(5)

2. Answer the following : 2x5=10
ot faarRe Tes i
(a) Differentiate between spot and forward

exchange rate.

=5 o TG R 299 qewe e fAefy
91

(b) Write two constituents of international
financial market.
EEfes R8N I o1 S w1 forn |

(c) What are the I-S components of
Mundell-Fleming model?
Jewe-@FR wfEe - SamERE &
o2

(d) Give two merits of Phillips curve as a
tool of economic theory.
Sftafes wgs 2P f2o1eet Referer @ 151 89
fers |

(e) Define impossible trinity of Mundell-
Fleming model.
Jeoe- @i wfEq wpiee @f1’S sige fuar |

3. Answer any four of the following : 5x4=20

s R vifkb Tes fors

{a) What are the factors which cause shifts
in the short-run Phillips curve?
@ R Inee IR RfrR @I
fRIETT PR (I = ?
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(b)

(c)

(@)

(e)

22A/40

(6)

Explain the concepts of  rational
expectation in theory and practice.
ofes wF IRERE Fqo A AR
IRECH! I

What is adaptive expectation? Mention
three limitations of adaptive
expectation.

wfeEfes o 2 TR A6 FHaRae
TeEy 91 |

How is the exchange rate determined in
a free market? Explain briefly.

& e e 21 R B v =, wee
I 0

What are the relative importahce of
aggregate demand and aggregate

supply?
Afae vftw W TNiEE @R WS
AT 9Fg 2

How can the aggregate supply function
be derived?

ANRAT I T (e e 391 24 2

( Continued )

4. Answer any four of the following :

' ¥

o eI SIfBR g faan -

(@)

(b)

()

@
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Explain the purchasing power parity
theory. Discuss its limitations.

T FIOR WOl $Gol A FA | WH

SREOPTR S 1 |

Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

o Bere e T & o sifadaHie
R 9o Yed-arla Qe o ao=-
G i TSCHr 740 41 1

How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

fFfrr @R GEme FRE o= qEreies
&S o4 0 A ? TR fSors Rz
ST 1 |

What do you mean by effective demand?
What are its determinants? Explain
briefly.

sy vifEm e [ go 2 TR TAMEeER @
2 oYt rm 40

{ Turn Over )
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(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

AT tiRtW WE TNEAT @R RE
SefAcs SN (@eWE WdRT 9 =, 3¢
Ll :

() Explain the Dornbusch’s overshooting
theory.

LB O SRR OGLHT R P41 |

(g9 Write a note on monetary approach to
balance of payments (BOP).

@ el (BOP)T His® (BN @[
<O (BRI fora |

(h) Explain the asset market approach to
determine exchange rate.

Rt 2/ fdiRa FRAA Toom TR iR
0T 4 |

* * *
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